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Consider the graph of variables x versus y shown on the set of axes below:

y 20 - - —
15 +—

10 *

0 5 10 15 20

a. Draw a line of best fit on the graph shown above.
b. Circle the correlation coefficient shown below that best illustrates the relationship
shown between the two sets of data x and y.
r=0 r=—0.96 r =~ 096 r= 024

c. Use the line of best fit drawn in part (a) above to estimate a value of y
corresponding to an x value of 10.

Match the letter of the appropriate correlation coefficient with the graphs shown below:

Graph 1: Graph 2: Graph 3:

A r=0 B. r = +1.0 C.r= -10 D. r= +0.7 E. r=-07
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Ten middle years students were measured for height (k) and arm span (a). The results

are shown in the table below:

Height: h (cm) Arm Span: a (cm)
152 154
156 154
160 158
164 166
166 163
166 167
170 172
175 174
177 178
180 178

a. Calculatehand @.

b. Determine the correlation coefficient between h and a .

¢. Use words to describe the relationship between h and a .

very strong, positive correlation

as the heights increase, the arm spans increase

® .___Line of Best Fit

D

Data
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Use the given points to find the following: (18,-6), (9, 1)

a) Find the slope of the line that goes through the two

points.
o A\ﬁ _ | — 6 = _l
M= 2= 5—w 7
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Association vs. Causation

Three reasons why two variables may be associated:

1.

2.

An experiment proves that one variable causes the
other. This is a true causation.
A third variable impacts both variables making it

appear that there is a cause and effect relationship.

This is an association.
There is a correlation but it is just coincidental due
to a very small sample size. This is an association.
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What goes into the calculation of
Pearson's Correlation Coefficient ?

(a.k.a. linear correlation coefficient)

Calculate the correlation coefficient,
"by hand"using the formula itself.

There are a few methods to calculate the
correlation coefficient, r. The one we will be
looking at was invented by
someone called Pearson, and its full title is......

Pearson’s Product Moment
Correlation Coefficient

will also be in the Ch 11 packet
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>< mean of the independent variable

——

\j mean of the dependent variable

<x-’>_<)2 square of the deviation from the
mean of the indep. variable

(‘:s;‘g)& same, but for depend. variable
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(will not be on the IB exams, BUT will be needed
for the IB project if youuse correlation)
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For 1B exams:

a) On the IB exam, you would only use your
calculator to quickly calculate r

b) If you use correlation on your project, you would
have to include a calculation by hand

(with the help of a spreadsheet most likely.

(checked by a calculator, perhaps)

An example

with simple data
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Copy down in your notes. Then Enter the
following data in your GDC

Distance from| Price of CC(ICLIIC("'C r', b¥
the statue the Bottle
hand, then check
10 metres $2.80 .
with calculator
50 metres $2.70
80 metres $2.60

100 metres

X = 0 werer
$2.40
130 metres

$2.20 ﬁ

170 metres

$2.00 tj - ?~</S
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Assignment Day 2 is a worksheet WS

Due tomorrow.

Optional Extra Practice Problems for
tomorrow's 15 to 20 minute quiz on
Normal Distribution

Answers are posted along with the others. These are not required to
be turned in.

p. 312 Review Set A....1,3,6 and SetB..2, 5




